

THE PHOTO COLLECTION

Custom Collections available upon request.

NOT OFFERING ANY DISCOUNTS

Small Travel Fee Required \$75 dollars per vendor









12 Hour Wedding Day Coverage

2 Photographers

<u>Up to 3 Locations</u> of travel for Wedding day 30 to 40 Wedding Day Sneak Peeks within 3 days of wedding Complimentary Engagment Session

Personal Online Gallery
Unlimited Fully Edited Photos
Unlimited Downloads

Detailed Wedding Day Timeline
Pre Wedding Meeting
Day of Checklist for Bridal Details
Family Portraits Checklist

12 hours, \$350/hour **\$4,200**



11 Hour Wedding Day Coverage

2 Photographers

<u>Up to 3 Locations</u> of travel for Wedding day

<u>30 to 40 Wedding Day Sneak Peeks</u> within 3 days of wedding

<u>Complimentary Engagment Session</u>

Personal Online Gallery
Unlimited Fully Edited Photos
Unlimited Downloads

Detailed Wedding Day Timeline
Pre Wedding Meeting
Day of Checklist for Bridal Details
Family Portraits Checklist

11 hours, \$350/hour **\$3,850**



10 Hour Wedding Day Coverage

2 Photographers

<u>Up to 3 Locations</u> of travel for Wedding day

<u>30 to 40 Wedding Day Sneak Peeks</u> within 3 days of wedding

<u>Complimentary Engagment Session</u>

Personal Online Gallery
Unlimited Fully Edited Photos
Unlimited Downloads

Detailed Wedding Day Timeline
Pre Wedding Meeting
Day of Checklist for Bridal Details
Family Portraits Checklist

10 hours, \$350/hour **\$3,500**



9 Hour Wedding Day Coverage

2 Photographers

<u>Up to 2 Locations</u> of travel for Wedding day

<u>30 to 40 Wedding Day Sneak Peeks</u> within 3 days of wedding

<u>Complimentary Engagment Session</u>

Personal Online Gallery
Unlimited Fully Edited Photos
Unlimited Downloads

Detailed Wedding Day Timeline
Pre Wedding Meeting
Day of Checklist for Bridal Details
Family Portraits Checklist

9 hours, \$350/hour **\$3,150**



8 Hour Wedding Day Coverage

2 Photographers

<u>1 Location</u> of travel for Wedding day <u>30 to 40 Wedding Day Sneak Peeks</u> within 3 days of wedding

Personal Online Gallery
Unlimited Fully Edited Photos
Unlimited Downloads

Detailed Wedding Day Timeline
Pre Wedding Meeting
Day of Checklist for Bridal Details
Family Portraits Checklist

8 hours, \$350/hour **\$2,800**









The 8x8 Album



The 10x10 Album



The 12x12 Album

Quantity: 1

\$450

Quantity: 1

\$525

Quantity: 1

\$600

















